aining blank pages.‘ 1

cbmhulsorily draw diagonal cross lines on the rem

1. On completing .yoﬁr answe}s,
2. Any revealing of identification,

Important Note :

50, will be treated as malpréctice.

“USN

appeal to evaluator and /or equations written eg, 42+8

Time: 3 hrs.
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c‘§

Max Marks 100

Module—l

Dlstmgulsh between : 1) Contintious time signals and dlscrete tlme signals.-

ii) Even signal and Odd signal m) Periodic signal and non - periodic signal. (06 Marks)
Find the even and odd components of the following signals.,, - '

1) x(t)——1+tcost+t smt+t sintcost 1) x(t)—1+t+3t +5t +9t*, (08Marks)

For the trapezoidal pulse %(t) shown in Fig. Ql(c) ﬁnd the total energy. (06 Marks)
Aaled e

A system has an input — output relatlon given by y( ’ { - x(t)} Determme whether the

svstem is 1) Memor 1ess 11) Time invariant - iii) Linear ;v\ ‘Causal. ("6 Marks)

»»»»»»»

Signals x(t) and y(t) are shewn in Fig. Q2(b) Sketch 1) x(t) y(t - 1) i) x(2t) y(2t + 1).

(08 Marks)

nn . | nm

+Sin| —|. (06 Marks)

sl 4
- Find the fereed response for the system described by
2 . '

ddz(t) +5 di'l(t) +6y(t) = 2x (0 + d(t ) with input x(t) = 2¢* u(t). (08 Marks) |

Find convolution of two, ,ﬁmte duration sequences h[n] = an u[n} for all n and x[n] =b" [ n]

foralln i) Whena % b ii) Whena=b. (07 Marks)

Draw the direct form I and direct form —II 1mplementat10n of the followmg system

((((((

4d3dyt(t) 3d3(’1(t)+ () = x(t)+dx()

(05 Marks) .
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-

OR

o ; : ’ (10 Marks)

FE D, For the followmg impulse response determme whether the correspondmg system is -

i) ‘Memoryless ii) Causal 111) Stable s '

, h(t) =u(t + 1) —u(t-1). . @ Yoo (05 Marks)

c. Evaluate the step response for the LTI system represented by the nnpulse response s
h(t) =t U(t). L

e A Moduled
State and prove Parsavel’*s theorem ' ‘

" (07 Marks) -

(07 Marks
i ier transform for the srgnal x(t) shown in Fig. QS(c) (0‘6‘ Marks) ;s
' / fx(tr) P

3%

.. (07 Marks)
b. Usmg pa tial fraction expansron determine the time domain signal correspondmg to the
25 fo Ilowmg Fourrer transform
0 )_ ' 2(_]W) +5_]W -9
(]W+4)( w +4jw +3) ) ~
The system produces the output of y(t) = &’ fu(t) for an 1nput of x(t) =¢> u(t) Deterrmne
: rfrequency response and impulse re sponse of the system. PR e (06 Marks)

(07 Marks)

: .~ Module-da SN
State and prove the follow g properties of discrete Fourier transform : b,
i)~ -Linearity - < 11)W e shift. - : : f : (08 Marks)
“b.  Obtain the difference equatron description: for the system having 1mpulse response iy
h[n] 8[n] +2[ )/ 1" un] +[- / 1" un]. | | _' 06 Marks)
Find the DTFT‘thhe signal x[n] = [Z] ‘un+4]. - - B s A sl "(’06 Marks)
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‘:.a'—»
- (06 Ma'rks)
Fmd the DTFT of the signal x[n] =" "/ (07 Marks)
A Signal x[n] has the DTFT G g
1
Q=
HEV e
i) xi[n]=x[2n+ 1] - (07 Marks)
a. OC - (06 Marks) i
b. apsform, the ROC and the location of poles and zeros of x(z) for the
following s1gnal Qraw the ROC. ; . iy PNy
x[n] = [-}5 uln] + @ ufn]. X" : (08 Marks)
\the system described l%%r the difference equatlon
: wlnl. (s Marks) <
: OR S ' . TR NCEC A
a. Find the Z — transform of [n] 2" u[-n-3] usmguappropnate propertles -+ (06 Marks)
b. Using Partial Fraction Expansmn method, find the inverse Z = transform of '
i) 1ZI< Y
- (08 Marks)
e State and prove the followmg properties of Z“— transform :
"1 Time reversal .. 11) leferentlatlon in the Z — domain. ‘ . (06 Marks)
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